EWIN

iR ENE EEL DETACHABLE HOSE FITTING

HiBiEiELLubrication Hose Fitting

SAE iZ=%#7%| SAEFlange

=

i
|

90° SAE ;&= 6000 PSI

90°SAE FLANGE 6000 PSI

SAE J518 CODE 62

245

87698D
B o8 6 irE 4B HOSE BORE RY  DIMENSIONS

PART NO. THREAD E LXFFRIEDN | RS DASH A C D H L 51
87698D-08-08 1/2" 1 08 53 31.7 24 | a8 7.75 27
876980-12-10 3/4" 12.5 10 66.5 | 41.3 32 | s65 | a.78 32
87698D-12-12 3/4" 16 12 795 | 41.3 32 | 86 8.76 32
87698D-16-12 1 16 12 795 | 478 38 | 69 9.53 32
BE7698D-16-16 1" 22 16 BE.5 a7.6 38 4.5 9.53 41
87698D-20-16 1-1/4" 22 16 86.5 | 54 44 | 785 | 1028 | 41
87698D-20-20 1-1/4" 29 20 100.5 | 54 44 | ses | 1028 | 50
87698D-24-20 1-1/2" 29 20 100.5 B63.5 51 94.5 12.57 50
87698D-24-24 1-1/2" 35 24 108 63.5 51 | 108 | 1257 | 55
87698D-32-24 2" 35 24 108 79.4 67 | 116 12.57 | 55
87698D-32-32 2" 48 32 128.8 | 79.4 67 | 1363 | 1257 | 70

HBIE &K

LUBRICATION
HOSE FITTING

246



EWIN

HigtEELLubrication Hose Fitting

HiBiEiELLubrication Hose Fitting

EWIN

EEIEEEL LUBRICATION HOSE FITTING

HiErEREL LUBRICATION HOSE FITTING

IV IS ===

L2

- @03

_I__i

B LE' .

L1

hNE

HRETRIER
LUBRICATION HOSE DETACHABLE

FERRULE

W

B B $ & HOSE BORE BRETE R DIMENSIONS

FART NO. P3iE DN 520D THREAD D1 D2 D3 L1 L2 L3 W
100121200 d &.6 P70, 75 11 11 28 4 12
100121305 6.5 11.2 hBExD.TH 14 16 AB 4 17
i LSRR, 2 AR EAEREI S 10012 1ow-5S,

Mote: 1.Type material for carbon steel in the table.

301 need stainless steel models to 10012 1xox-55%.

247

/T {
@02
* i T—
E’E” — ' a . ' ' ' e
* Al A A A A A *
= [L1] —= - [} ————=y
LHFERXEE
- L2 - METRIC STANDFIPE STRAIGHT
DIN 2353
Hp -
E:gﬁ A
B2 Y HOSE BORE ReYE R  DIMENSIONS &t
PART NO. FEDN SHEOD THREAD D1 D1 D2 L1 L2 L3 SW NOTE
100121218 4 5.6 M7x0.75 3 2.8 30 Gid 23 10
100121189 4 8.6 MM7x0.75 &g 2.8 19 50 25 10
100121180 4 5.6 M7Tx0.75 & 2.8 24 55 23 10
100121201 4 8.6 M7x0.75 6 2.8 29 B0 25 10 LL
100121217 4 8.6 MT7x0.75 8 2.8 30 B4 25 10
100121219 4 8.6 M7x0.75 10 2.8 30 G4 25 12
100121301 6.5 11.2 MEx0.75 B 5.2 25 G675 36 12

iE 1 RPE S R,
Mote: 1. Type material for carbon steel in the table.

2 NSRS U0 10012 1xxx-55,
3If need stainless steel models to V0012 1oo-55.

248



249

EWIN

HigtEELLubrication Hose Fitting

EEMEELL LUBRICATION HOSE FITTING

HEALINEESL PUSH-ON HOSEFITTING

EWIN

SW T
4 ‘—)4] s @02
@01 _]:L_L _____i‘_
I 1
L . AEFEXEEEE)
METRIC STANDPIPE
s STRAIGHT(GROOVED)
DIN 2353
¢+
¢$ *ﬁ E. E‘l:‘: WA
i e HOSE BORE AESOE R<  DIMENSIONS =i
PART NO. MiEDN | #M20OD | THREADDI D1 D2 L1 ] L3 swW | MNOTE
100121210 4 8.6 M7x0.75 B 2.8 21 52 25 10 n
100121191 4 8.6 M7x0.75 B 2.8 28 G0 25 10
T 1 LR SRR, 2N AR SR 1001 21x0a:- 55,
Mote: 1.Type material for carbon steel in the table, 31f need stainless steel models to 10012 Lox-55.
@n] —- ——
L1
@oz )
90" EIFEXEE
v 90° METRIC STANDPIPE STRAIGHT
a0 s DIN 2353
Lz
15 ———
L
B o2 & HOSE BORE S < DIMENSIONS =it
PART NO. PIEE DM AME 0D THREAD D1 D1 D2 L1 L2 L3 SW MNOTE
100121208 El 8.6 M7x0.75 2.8 23.5 44 25 10 0
100121202 4 8.6 M7x0.75 2.8 40 B0 25 10

i FPUSHERER.
Mote: 1.Type material for corbon steel in the fable.

ATV E &3k

PUSH-ON
HOSE FITTING

250



EWIN

EALENE EL PUSH-ON HOSE FITTING

AhEa 24 HEERS 24°Cone O-Ring Seal L.T.

EAILIRE L PUSH-ON HOSEFITTING

04"

e

SEI=gEaRE

LHlMEL24 R RS

METRIC FEMALE 24° CONE SEATL.T.
IS0 8434-1--DIN 3861

AHEIBE 24 mERT 24°Cone O-Ring Seal LT.

31
10410

B o2 48 B FRE HOSE BORE e e = DIMENSIONS

PART NO. THREAD E | {\3%P3{2DN | f#SDASH | TUBEOD. A L C 51
10410-12-04 M12x1.5 & 0 6 16 19 10 12
10410-14-04 M14x1.5 ] 04 a 17 186 10 14
10410-16-06 M16x1.5 10 06 10 18 22.6 11 17
10410-18-06 M18x1.5 10 0& 12 18 22.6 11 19
10410-22-08 M22x1.5 12 08 15 23 26.5 12 22
10410-26-08 M26x1.5 12 08 18 21 26.5 12 27
10410-26-10 M26x1.5 16 10 18 21 a7 12 27
10410-30-12 M30x2 20 12 22 27 37 14 a0

— — 1
S
f L/ <
* /)“—\ l | LHREED 24 HTFOR BRI
L—""
METRIC FEMALE 24°"CONE RING L.T.
— 150 8434-1--DIN 3865
52
20410

i MEE YRE HOSE BORE EFNE OEH R DIMENSIONS

PART MO THREADE |<EFfi2DN| &2 DASH | TUBEOD. O RING A L C 57
20410-12-04 M12%1.5 G 04 G Q04 .5%1.5 21 19 1.1 14
20410-14-04 M14x1.5 G 04 8 206.5X%1.5 17 15 1.1 17
20410-16-04 M16x1.5 6 04 10 D08.0X%1.5 17 19 2 18
20410-16-06 M1G6x1.5 10 0g 10 D08.0X%1.5 17 226 1.3 19
20410-18-06 M18x1.5 10 06 12 O10,0X1.5 17 22.6 2 22
20410-22-08 M22x1.5 12 08 15 O12.0%2.0 18 26.5 2.5 27
20410-22-10 M22%1.5 16 10 15 O12.0%2.0 23 37 2.5 27
20410-26-10 M26x1.5 16 10 18 O15.0%2.0 19 37T 2.5 32
20410-30-12 M3I0x2 20 12 22 020.0X%2.0 21 a7 3 a6

o LERREHENEE | KUEAFEREE,

Mote: 1.Type material for carbon steel in the table , K without plastic ning.
2 W0 EERE S 10410-XX-XX-B.
IANEAF RSS2 10410-XX-XX-55,

251

2If need brass model is changed to 10410-XX-XX-B.
3If need stainless steel models to 10410-3-¥X-55.

ik o 1L RPESHREAT , KRR,

MNote: 1.Type material for carbon steel in the table , K without plastic ring.

2 MNEAEIERS M 20410-XX-XX-B,
3 MEAFEREEACH 20410-XX-XX-55,

21f need brass model is changed to 20410-XX-XX-B.
1.1f need stainless steel models to 20410-XX-XX-55.

252



EWIN

EALENE EL PUSH-ON HOSE FITTING

AhEa 24 HEERS 24°Cone O-Ring Seal L.T.

(L) —=t

J:_ LHIPRBRE2AREERS
METRIC FEMALE 24°MULTISEAL L.T.

\ DIN 3868
S2

\

20410C

B 8 1B ERE ¥ HOSE BORE EFND R DIMENSIONS

PART MNO. THREAD E | 4¥RME0DN | 2 DASH TUBE O.D, A L C g2
20410C-12-04 M12x1.5 B 04 (i1 14 19 35 14
20410C-14-04 Mi1d4x1.5 G 04 8 14 19 3.5 17
20410C-16-04 Mi1G6x1.5 G 04 10 14 19 3.5 149
20410C-16-06 MiG6x1.5 10 3 10 15 22.8 3.5 19
20410C-18-06 Mi18x1.5 10 06 12 16 226 3 22
20410C-22-08 M22x1.5 12 08 15 15 26.5 4.5 27
20410C-22-10 M22x1.5 16 10 15 20 ar 4.5 27
20410C-26-10 M26x1.5 16 10 18 17 a7 4 32
20410C-30-12 Madx2 20 12 22 17 a7 7 36
20410C-36-16K MaGx2 25 16 28 22 38 6.5 41

iE . LFRGESHENER | KFERFREEE,

Mote: 1. Type material for carbon steel in the table , K without plastic ring.

2 N ERIEE S 20410C-XX-XX-B,  2If need brass model is changed to 20410C-XX-XX-B.

3 MNFEAFERREACH 20410C-XX-XX-55,  3.If need stainless steel models to 20410C-XX-XX-55.

EAILIRE L PUSH-ON HOSEFITTING

EWIN

AHEIBE 24 mERT 24°Cone O-Ring Seal LT.

!
H
1
45° L HIRES 24 R OB IZ 25
45° METRIC FEMALE 24" CONME L.T.
150 8434-1--DIN 3865
20440
B2 BRIE e HOSE BORE T OF:E R  DIMENSIONS
PART MO THREADE | 48R DN | #7E DASH | TUBE O.D. O RIMNG A C H 52
20440-12-04 M12x1.5 [ 04 6 004.5%1.5 ar 1.1 21 14
20440-14-04 Midx1.5 6 04 8 006.5X1.5 a1 1.1 16 17
20440-16-06 M1Gx1.5 10 (5] 10 O08.0X%1.5 ar 1.4 19 14
20440-18-06 M18x1.5 10 08 12 010.0%1.5 a7 2 19 22
20440-22-08 M22x1.5 12 08 15 Q12.0X2.0 43 2.5 21 27
20440-26-10 M26x1.5 16 10 18 O15.0X2.0 46 2.5 23 32
20440-30-12 M3I0x2 20 12 22 Q20.0X2.0 60 3 26 K15

i 1 RPRSUELEE . KRR FEEEE,

Mote: 1.Type material for carbon steel in the table , K without plastic ring.

2 NSRRI E A 20440-XX-XX-B,  2If need brass model is changed to 20440-XX-XX-B.
JINFAFERR A0S 20440-XX-XX-55, 3]fneed stainless steel models to 20440-XX-XX-5

5.

253

254



EWIN

EALENE EL PUSH-ON HOSE FITTING

AhEa 24 HEERS 24°Cone O-Ring Seal L.T.

EAILIRE L PUSH-ON HOSEFITTING

SHIBL 24 75 24°Cone O-Ring Seal LT.

90" IR ERER 24" ETH O R R
90° METRIC FEMALE 24° CONE L.T.
ISO 8434-1--DIN 3865

i =] RE Y HOSE BORE BTN OF:H R DIMENSIONS

PART MO THREADE |<¥FMmEDN| &2 DASH | TUBEOLD. O RING A C H 7
20490-12-04 M12x1.5 6 04 & O04.5%1.5 23 1.1 k[ 14
20490-14-04 M14x1.5 L 04 i D06.5X1.5 23 1.1 32 17
20490-16-04 M16x1.5 L 04 10 Q08.0X1.5 23 2 31 149
20490-16-06 M16x1.5 10 06 10 Q08.0X1.5 27 1.3 35 19
20490-18-06 M18x1.5 10 06 12 C10.0X%1.5 27 2 36 22
20490-22-08 M22x1.5 12 08 15 CA1Z2.0x2.0 32 2.5 41 27
20490-26-10 M26x1.5 16 10 18 015.0X%2.0 a7 2.5 45 az
20490-30-12 M30x2 20 12 22 020.0%2.0 51 3 85 a6

— A
1. —
" (V
g
45° o HIRIBLR24 BRERE RS
. 52 45°METRIC FEMALE 24° MULTISEALL.T.
DIN3868
20440C
B 8 1B ERE ¥ HOSE BORE EFND R DIMENSIONS
PART MNO. THREAD E | 4¥RME0DN | 2 DASH TUBE O.D, A O H g2
20440C-12-04 Mi2x1.5 B 04 6 az a5 16 14
20440C-14-04 Mi1dx1.5 B 04 8 32 4.5 16 17
20440C-16-06 Mi1Gx1.5 10 0G 10 33 3.5 18 19
20440C-18-06 M18x1.5 10 06 12 36 3 18 22
20440C-22-08 M22x1.5 12 e 15 41 4.5 19 27
20440C-22-10 M22x1.5 16 10 15 45 4.5 21 27
20440C-26-10 M26x1.5 16 10 18 45 4 21 32
20440C-26-12 M26x1.5 20 12 18 62 4 31 az
20440C-30-12 Madx2 20 12 22 52 7 23 36
20440C-36-16K MaGx2 25 16 28 T 6.5 30 41

i LRPESHEAER  KUFATEESE,
Mote: 1.Type material for carbon steel in the table , K without plastic ring.
21f need brass model is changed to 20440C-XX-XX-B.

2 A A S e 20440C-XK-XX-B.
3 AR EIREE AN 20440C-XX-XX-55,

3.If need stainless steel models to 20440C-XX-1X-55.

iF - 1 FPEISHEARE | KRR,
Mote; 1.Type material for carbon steel in the table , K without plastic ning.

2 WNEA R E A 20490-XX-XX-B,
3 UNFEFAEEEE S 00h 20490-X0(-XX-55,

2.1f need brass model is changed to 20490-XX-XX-B.
11f need stainless steel models to 20490-XX-XX-55.

255

256



EWIN

EALENE EL PUSH-ON HOSE FITTING

AhEa 24 HEERS 24°Cone O-Ring Seal L.T.

EAILIRE L PUSH-ON HOSEFITTING

HE| ER 60" HEE = ES BSPP 60° Cone Seal

i
H
' 90"l PR 24 BREE R
90°*METRIC FEMALE 24° MULTISEAL L.T.
DIN3868
| I p—|
20490C
m 8 B iXE & HOSE BORE TN R DIMENSIONS
PART NO. THREAD E | 4\FRPa{2DN | #REDASH | TUBEOD. A C H 52
20490C-12-04 M12x1.5 & 04 6 23 35 29 14
20490C-14-04 M14x1.5 B 04 8 23 3.5 29 17
20490C-16-04 M16x1.5 3 04 10 23 3.5 29 19
20490C-16-06 M16x1.5 10 06 10 27 35 33 19
20490C-18-06 M18x1.5 10 08 12 27.5 3 35 22
20490C-22-08 M22x1.5 12 08 15 34 4.5 39 27
20490C-26-10 M26x1.5 16 10 18 37 4 43 32
20490C-30-12 M30x2 20 12 22 51 7 50 a5
20490C-36-16K M3Gx2 25 16 28 61 6.5 70 41

X LEFEEHELMIN , KIUEREEESE.

Mote: 1.Type material for carbon steel in the table , K without plastic ring.
21f need brass model is changed to 20490C-XX-XX-B,

2 TR R S 20490C-XX-XX-B,
3NN EREE AR 204900 -X0-XX-55,

3If nead stainless steal models to 20820 =X -XxX-55,

257

' L)
RESMRLE0° P
BSPP MALE 60°CONE SEAL
12610A
B o2 o8 7 E 4 HOSE BORE BT DIMENSIONS
PART NO. THREAD E L2FRPIEDN 78 DASH A L 51 d
12610A-02-04 G1/8x28 & 04 i7 19 14 4.3
12610A-04-04 G1/4x%18 & 04 23 19 19 4.3
12610A-04-06 G1/4x19 10 06 21 226 19 T.0
12610A-06-06 G3/Bx19 10 06 23 22.6 22 7.0
12610A-0B-08 G1/2x14 12 g 27 26.5 27 9.6
12610A-10-10 G5/8x14 16 10 28 ar 30 12.0
12610A-12-12 G314 20 12 28 ) 32 18,2
iE 1 FPESHEER , KRR,
Mote: 1.Type material for carbon steel in the table , K without plastic ring.
2UNE ARSI 12610A-XX-XX-B.  2If need brass moedel is changed to 12610A-XX-XX-B.
IIIMATERNE SN 12610A-XX-XX-55,  3If need stainless steel models to 12610A-XX-XX-55.
T EPAEL60 M
E BSPP FEMALE 60° CONE
60’ .
52 22610
B8 & IE 7 HOSE BORE R<  DIMENSIONS
PART NO, THREAD E SFRARIEDN == DASH A C 52
22610-04-04 G1/4x19 & 04 15 4.5 19
22610-06-04 G3/8x18 B 04 18 6.0 22
22610-06-06 G3/8:19 10 06 17 a.0 22
22610-D8-08 G1/2%14 12 08 18 G.5 2T
22610-10-10 GE/EL14 16 10 18 9.7 34
22610-12-12 Gi/dx14 20 12 21 8.7 a2
22610-16-16K Gi1x11 25 16 20 10,5 41

x . 1LERPESHENEE , KNEATEESE,

Mate: 1. Type material for carbon steel in the table | K without plastic ring.
2URAERESHN 22610-X6-KX-B, 21 need brass model is changed to 22610-XX-XX-B.
3 AN AFIERRS N0 22610-XX-XX-55,  3If need stainless steel models to 22610-XX(-XX-S5.

258



EWIN

EALENE EL PUSH-ON HOSE FITTING

|6 0° HEm = st BSPP 60° Cone Seal

45 E AIRE 60 IMNEETH
45°BSPP FEMALE 60° CONE

EAILIRE L PUSH-ON HOSEFITTING

EWIN

SHEE R BSPT

7
ol ra Fil
// ﬁ*:—- >~
[T
S 1 BSPT MALE

13010
=1 ¥ WE ¥ HOSE BORE R DIMEMSIONS
PART NO. THREAD E SFREDN | fR=DASH A C 51
13010-02-04 R1/8x28 6 04 18 10 12
13010-04-D4 R1/4x19 & 04 21 14.5 14
13010-04-06 R1f4x19 10 06 21 14.5 17
13010-06-06 R3/ax19 10 06 22 15 19
13010-06-08 R3/Bx18 12 0 22 15 19
13010-08-08 R1/2x14 12 08 28 20 22
13010-08-10 R1f2x14 16 10 28 20 22
13010-12-10 Rafax14 16 10 31 20 27
13010-12-12 Rafax14 20 12 31 20 27
13010-16-16K R1x11 25 16 38 25.5 36

it LR RSHERER | KEETHEEHSE,
Mate: 1.Type material for carbon steel in the table | K without plastic ring.

2 ANE AR S 13010-XX-XX-8,
3 ANIEEAIRIRE S M 13010-X00-XX-55,

2.1f need brass model is changed to 13010-XX-XX-B.
3If need stainless steel models to 13010-XX-XX-55.

22640
B8 i HE #irE; HOSE BORE R< DIMEMNSIONS
PART NO. THREAD E | &#5fEDN | RS DASH A C H 52
22640-04-04 G1/4x19 L 04 iz 4.5 16 19
22640-06-086 E3/8x19 10 ]3] 35 6.0 18 22
22640-03-03 E1/2x14d 12 & 41 6.5 19 27
22640-10-10 Eo/8x14 16 10 45 8.7 21 30
22640-12-12 Gldx14 20 12 25 B.7 27 32
22640-16-16K G1x11 25 16 63 10.5 31 41
ik 1LEFRESHEAER | KUESTEREE.
Maote: 1. Type material for carbon steel in the table | K without plastic ring.
2 N AR S NA 22640-XX-XX-B,  2If need brass model is changed to 22640-XX-XX-B.
JINEARRESACh 22640-KX-XX-55,  3If need stainless steel models to 22640-XX-XX-55.
| 90 EE PR 60°FMERE
90°BSPP FEMALE 60° CONE
L
t
22690
B S iE £0E X HOSE BORE R DIMENSIONS
PART NO. THREAD E AAERCNEE DN 2 DASH A C H 52
22690-04-04 G1/4x19 6 04 23 45 29 19
22690-06-06 G3/Ex1D 10 06 27 6.0 33 232
22690-08-08 GAi2x14 12 08 34 6.5 a9 27
22690-10-08 G1/2x14 12 08 34 9.7 40 a0
22690-10-10 G5/8x14 16 10 37 9.7 43 30
22690-12-12 G3/4x14 20 12 51 8.7 53 32
22690-16-16K =1%11 25 16 61 10.5 68 41
iE - LEPREREAEE | KEEEEEE.
Mote: 1.Type material for carbon steel in the table , K without plastic ring.
2T RERE SN 22690-XK-XX-B,  2If need brass model is changed to 22690-XX-XX-B.
JINFRFERE SN 22600-000-XX-55,  3If nead stainless steel models to 22690-XX-XX-55,

259

260



EWIN

EALENE EL PUSH-ON HOSE FITTING

EHIORFS 8Ly EEE3$ ORFS Face Seal

EAILIRE L PUSH-ON HOSEFITTING

— T B A

SEHIEARE NPTF

T S
= 0
‘ O
L]
EHIORFS AIREER
52 &1 ORFS FEMALE FLAT SEAT
ISO 8434-3--SAE J1453
24210
8 g 6 4IE $RE HOSE BORE R DIMENSIONS
PART NO. THREAD E S FRMIEDN 172 DASH A C 51 52
24210-04-D4 G/16x18 G 04 17 8.2 14 17
24210-06-06 11/ 16x16 10 (] 18 8.5 149 22
24210-08-06 13M16x16 10 ] 20 11 22 24
24210-08-08 13/M16x16 12 08 20 11 22 24
24210-08-10 13116x16 16 LLL 21 11 22 24
24210-10-10 1x14 16 10 24 13.5 24 30
24210-10-12 1x14 20 12 24 13.5 27 30
24210-12-12 1-3M6x12 20 12 a0 14.5 30 36

; SEHISEE TR
E NPTF MALE
a1
15610

m o= 88 HE 7 HOSE BORE R DIMENSIONS

PART NO. THREAD E | 4:FPsiEDN | #52DASH A C 51
15610-02-04 1/8x27 NPTF 5 04 16 9.65 12
15610-D4-04 1/4x1B NPTF G 04 21 14.22 14
15610-04-06 1/4x1B NPTF 10 06 22 14.22 14
15610-06-06 3/8x1B NPTF 10 06 22 14 .22 19
15610-06-08 3/8x18B NPTF 12 ag 22 14 .22 19
15610-08-04 1/2x14 NPTF 6 04 24 19.05 22
15610-08-06 1/2x14 NPTF 10 06 24 19.05 22
15610-08-08 1/2%14 NPTF 12 08 29 19,05 22
15610-08-10 1214 NPTF 16 10 28 18.05 22
15610-08-12 1/2x14 NPTF 20 12 29 18.05 22
15610-12-12 Gldxt1d NPTF 20 12 28 18.05 )

267

i 1 LERPESEECRER |, KRR,

Mote: 1. Type material for carbon steel in the table , K without plastic ring.
2 WA iR S0 24210-XX-XX-B,
3 ANFAEFRNE S U 24210-XK-XX-55,

21f need brass model is changed to 24210-XX-XX-8,

1.If need stainless steel models to 24210-XX-XX-55.

iE - LEFRSHENED  KRESFTEESE.

Mote: 1.Type material for carbon steel in the table , K without plastic ring.

2 4R PRI S Erh 15610-X0(-X0(-B,

3R R R E S 15610-XX-XX-55,

21f need brass model is changed to 15610-XX-XX-B.
3If need stainless steel models to 15610-X0(-X(X-55.

262



EWIN

BALYEEIL PUSH-ON HOSE FITTING AL EESL PUSH-ON HOSE FITTING
EHICHRLY T4 JIC 74° Cone Seal SEH)ICHREY T4 R E) JIC 74° Cone Seal
B f-'l. Fi '

[
L .-‘} i r\?.?‘
74" E = . S— . _ _
EHLICHMEL T4 SR /—E'l
JIC MALE 74°CONE - EHIICHIEL T4 AR
ISO 8434-2--SAE J514 JIC FEMALE 74°CONE SEAL
1S08434-2--SAE J514
16710 26710
B EE W E & HOSE BORE R DIMEMSIONS BB 88 Y E $E HOSE BORE < DIMENSIONS

PART MO. THREAD E FRME DN 72 DASH A C 21 PART NO. THREAD E LERiE DN 2 DASH A C )
16710-04-04 TH6x20 B 04 21 14 12 26710-04-04 Ti16x20 G 04 21 8.7 14
16710-06-04 8/16x18 B 04 22 14 .1 17 26710-05-04 1/2x20 & 04 21 9.5 17
16710-06-06 B/16x18 10 & 22 14.1 17 26710-05-06 1/2x20 10 06 21 9.5 17
16710-08-06 3jdx16 10 06 26 16.7 18 267T10-06-04 8/16x18 B 04 22 8.5 19
16710-08-08 idx16 12 08 26 16.7 19 267T10-06-06 9/16x18 10 06 22 9.5 14
16710-10-10 Tigx14 16 10 30 19.3 24 267T10-08-06 =16 10 06 25 10.7 22
16710-10-12 Ti8=x14 20 12 A0 19.3 24 26710-D8-08 Jldx16 12 g 25 10.7 22
16710-12-08B 1-1M6x12 12 08 a2 21.9 a0 26710-10-08 Ti8x14 12 0B 28 12.7 2T
16710-12-10 1-1M16x12 16 LU a2 21.9 30 26710-10-10 FiBx14 16 10 28 12.7 .
16710-12-12 1-1M6x12 20 12 a2 21.9 a0 26710-12-12 1-1M16x12 20 12 a0 14.3 az

26T10-16-16K 1-BM16x12 25 16 33 151 41
ok LEFRSEEAEH | KUEATEREE,
Maote: 1.Type material for carbon steel in the table , K without plastic ring. ¥ . 1 ESREHERES KT EE,
2 UIFE B S 16710-XX-XX-B.  ZIf need brass model is changed to 16710-XX-XX-B. Mote: 1.Type material for carbon steel in the table , K without plastic ring.
3 INWAFREI S0 16710-XX-XX-55,  31f need stainless steel models to 16710-XX-XX-55. 2UNEAFEIEESH A 26710-XX-XX-B.  2If need brass model is changed to 26710-XX-XX-B.
INTHEFEREISAA 26710-X0-XX-55,  3.If need stainless steal models to 26710-XX-XX-55.

263




EWIN

EALENE EL PUSH-ON HOSE FITTING MATVENE #EL PUSH-ON HOSE FITTING
S=FHUICHEERL 74 = £ JIC 74° Cone Seal SEFISAEMEN 90" #EEFT SAE 90° Cone Seal
| A
——C— SEHISAESMRLLO0°FMER
SAE MALE 90° CONE
;‘W ol SAE J513
VI _[U_'lﬁ
., 17810
45°SEHIJICPRLL T4 FHEE
45°JIC FEMALE 74°CONE SEAT B B o GE Y& HOSE BORE RT  DIMENSIONS
26740 IS08434-2--5AE J514 PART NO. THREAD E | 4Ep3fEDN |  #58 DASH A C 51
17810-04-04 7i16x20 B 04 21 12.7 12
17810-06-06 S/8x18 10 06 23.5 15.7 17
B2 W 4R E §TE HOSE BORE R<  DIMENSIONS 17810-08-08 34x16 12 08 29.5 19 22
BART NO. THREAD E | 2Bm2DN | 52 DASH A c T < 17810-10-10 7814 16 10 32.5 22.4 24
96740-04-04 16220 & 04 20 a7 10 14 17810-12-12 1-1116x14 20 12 38.4 235.4 30
26740-06-06 9/16x%18 10 06 28 9.5 11 19 i 1 FPEEHENER KSR,
26740-08-08 34x186 12 08 35 10.7 14 22 Mote: 1Type material for carbon steel in the table , K without plastic ring.
- - e 2AEHRERSA0N 1T810-XX-XX-B, 2If need brass model is changed to 17810-XX-XX-B.
i l'ﬁq:ﬂ?wﬁ?gﬁﬁ ' K{tﬁxﬁﬁﬁéﬁ' : L 3 AR RIREIE M 17810-XX-XX-55,  31f need stainless steel models to 17810-XX-XX-55.
Mote; 1. Type material for carbon steel in the table , K without plastic ring
2N AE NN 26740-XX-XX-B, 2If need brass model is changed to 26740-XX-XX-B.
30 FEARE SR 26740-XX-XX-55.  3If need stainless steel models to 26740-XX-XX-55.
SEHISAEPIIREL 90° I
SAE FEMALE 90°CONE SEAL
| 90°ZEHJICPIREY 74° R SAE J513
r ' 90° JIC FEMALE 74° CONE SEAT
H |1SO8434-2--SAE J514
| g 27810
¢ s2
- m B oF 4UE $UEf HOSE BORE Rt DIMENSIONS
_ 26790 PART NO. THREAD E | LM DN | 458 DASH A C 52
27810-04-04 TiHGx20 B 04 19 9 9116
27810-05-04 1/2%20 i 04 21 9.5 58
B oa HE T E #E HOSE BORE F=  DIMENSIONS 27810-06-04 S/G6x18 & 04 23 1.3 34
PART NO. THREAD E L FRFEDN 178 DASH A C H 52 27810-06-06 5/8x18 10 06 23 11.3 3/4
26790-04-04 T16x20 & 04 20 8.7 21 14 27810-08-06 34x16 10 06 25 11 78
26790-06-06 9/16x18 10 06 25 9.5 23 19 27810-08-08 3/4x16 12 o8 25 11 7iB
26790-08-08 34x16 12 08 29 10.7 28 22 27810-10-08 TiBx14 12 08 28 13 1
26790-10-10 Ti8x14 16 10 37 12.7 3 27 27810-10-10 Ti8x14 16 10 28 13 1
26790-12-12 1-1M16x12 20 12 A6 14.3 48 32 27810-12-12 1-1/16x14 20 12 30 14.3 1-1/4
i LErESHEinEE | KNEATEEEE, it LFRPESHEER | KFRTFEssE.,
Maote: 1.Type material for carbon steel in the table , K without plastic ring. Mote: 1.Type material for carbon steel in the table , K without plastic ring.
2 SIS FHRIEE SR 26790-XX-XX-B.  ZIf need brass model is changed to 26790-XX-XX-B. 2 AT RS TREAS M  27810-KX-XX-B, 2If need brass model is changed to 27810-XX-XX-B
IUNTEAREISA A 26790-XX-XX-55,  31If need stainless steel models to 26720-XX-XX-55. JINTEETENRE M 27810-XX-XX-55, 3.If need stainless steel models to 27810-XX-XX-55.

265 | 266



pIINEEE INFORMATION

267

NI EEF: INFORMATION CATALOGUE

ELEER T Conection

MIonEE# INFORMATION

1 LERBISUCONNECTION

1 EfFiE L BRI GB Connection

1.1 T4"HEEEH B 74°Cone Seal ( GB/T 9065.1)

B EDITEAER N FRecommended Work Pressure And Installation Torque

FE{4Seal

iUt EConversion Factor

FELRERE v EE LR Ao AT REL = NEH B
HOSE DN THREAD HOSE FITTIMG PMATING ADAPTER FIGLRE
5 M12%1.5
e YT oS T S B P eB i R i
: Male: 107115 Female:M&a500, MEEDD,
8 M161.5 ME602. MEBOGEE .
10 M18%1.5 !
12 M22% 1.5
- Pe— REaERL | ERNECTEEL
Female:20711. Male: MMZ403, M2500,
20 M33 %2
20741, 20791, M2E03, M2700. MTE40,
22 M36x2 20712, 20742, M7205. M7210. M72155
25 Mag =2 20792%
32 M45 %2

1.2 O EEEEHERX0-Ring Flat Seal ( GBI/T 966-2005 )

FELRERE o EE LR Ao AT REL = NEH B
HOSE DN THREAD HOSE FITTING MATING ADAPTER FIGURE
5 M12=1.5
. N 1ax1 5 MR I EEL A AR PRIR i i i L
: Male: 103113 Fermnale: MFS5a500,

8 Mi6x1.5 MFSE600, MFSB602%
10 Mi18:1.5
12 M22%1.5 o
iG6 M2T7=1.5
20 M30x1.5

» PatR e e ACFBYM g s i R L
22 M36x2 Female: 20211, Male: MFS2403, MFS2500,
25 M39x2 20241, 20291, MFS2603, MFS2700,
32 Ma2=2 20722, 20242, MF57205, MFEST005,
40 MEZ w2 202925 MF5 70405
a0 MEd4 =2

268



MIonEE# INFORMATION

pIINEEE INFORMATION
LSBT CONNECTION
2 @EEIDIN{REEETR LDIN Connection
2.1 BEEHRITFEFESEHE X Compression Fitting ( DIN 2353 )
AN
| he | me | BT | smmimase | essmsisas E 1
Mpa | HOSE DN| THREAD |[uaEop| HOSEFITTING MATING ADAPTER FIGURE
5 M12%1.5 6
5 M1a%15 5 SreELT I E L EAEETEE
: Male: 10411, BITCLEIE |, FE0319EE
8 MiG=15] 10 104125, RE3LEEERGEEEE. L
- 10 M185 1.5 12
= 12 M22%1.5 15
EIJ 16 M2E= 1.5 18 EEHEE:‘:‘: E-El:ﬂlg'ﬁg‘ EﬂSIE‘EE
L 20 M30 %2 2% Standpipe: BE. SMRTEEL &
50011, 50041, A HNE2403. E2500.
2% MG 22 d 50091545 E2603. E2700. E2703.
3z Ma5 =2 35 EN. E7202. E72055%LEF.
a0 M52 % 2 42
5 M163%1.5 8
5 M18%1.5 10 o2 - S o A e BN EFEE ) iR |
: Male: 10511, FAEO319EEREQILEEE
8 M2Dx15) 12 10512, 10513%, | @& -EEE,
& 10 |M22%1.5] 14
i 12 M24 1.5 16 BEIEREL &E0319EE. E031EEE
c 18 M30 %2 20 Standpipe: W, SMRoUTEEL &
- Ap— - 50011, 50041, SHNE2403. E2500,
o SO091%A9E(S) E2603. E2700, E2703.
Mazx2 20 =5, E7202. E72055SEH,
92 M52 %2 a8

269

1 LERBISUCONNECTION

2.2 @24 @O EEL B 24°Cone O-Ring Seal ( DIN 3865)

ol
gg Hgg“ 2 o Eggﬂ WE R R A L RS m
MPa | HOSE DM THREAD TUBE O.D. HOSE FITTING MATING ADAPTER FIGURE
5 Mi12%1.5| &
6 M14x1.5 8 SRR E L At PR i i e L
Male: 10411, Female: E6402. EG405,
8 M161.5 10 104122, E6500. E6502. E6GOO.
10 | mi8=1.5] 12 E6602. E6565. E6504
LER,
12 |m22%1.5] 15 LR
16 M261.5 18 PR e el Al AR e Male;
20 3072 22 Female; 20411, EZ2403, E2500, EZ2603,
X 20441, 20491 E2700. E2703. E2704.
25 M36 % 2 28 st ELE, EG400. EG801. ET002.
E7005. E7202. E7205.
52 M45 2 35 E9801. E9804BLEF,
40 M52 % 2 42
5 M16%1.5| 8 ‘
SHRAAE RS B FIPI AR I i L Female:
6 |MiBx1.5] 10 | Male:10511, E6402. E6405. E6500
8 M20%1.5| 12 10512, 10513%. | Ego02. E6600. E6602.
10 |m2zxis| 14 E6565. EBS04FSHI.
12 M24 1.5 16 ?'ﬁ%ﬂﬁ]‘%ﬁ BLFEYHMESIT B L Male:
emale: : E2403, E2500, E2603,
16 | M30wZ ) 20 | 20512 20541 E2700. E2703. E2704
20 M36 % 2 25 ?%PE%;ESE;?E E6400. E7002. ET005,
32 M52 2 38

270



MIonEE# INFORMATION

271

1L RBISUCONNECTION

3 E=HELEEREK American Thread Type
3.1 Ao0HERNEE B 60°Tapered Thread Seal (SAEJ514)

fitnEE ¥ INFORMATION
BRI CONNECTION
2.3 BEES24'EEHE R Spherical Surface To 24°Cone
FAN
= H‘EEH g | Bf | smmsissien BT L R4 B
MPa |HOSE DN| THREAD lrap g p| HOSEFITTING MATING ADAPTER FIGURE
5 M123%1.5 5 |
5 iae1e 2 PUERE IR B L E MR EE I Male:
i Female: 20411C, E2403, E2500, E2603, SRRERRRE
8 M16x1.5 10 20441C. 20491C | E2700. E2703, E2704, T R
iz 10 M1821.5 12 &, E6400. E6GBO1. ET002, b 24° |
5 12 |M22%1.5| 15 E7005, E7202. E7205, _
E9801, E9804EE Z5),
Al 16 M26x 1.5 18
L 20 M30 32 22
25 M36 %2 28
32 M45 32 35
40 M523 2 42
5 M16%1.5 5
B M18x1.5 10 PRI Bk AR L Male:
" vy BT Female: 20511C. | E2403. E2500. E2603,
= 20512C. 20541C, | E2700, E2703. E2704,
= 10 |M22x15] 14 20542C, 20591C.| E6400. E6801. E7002.
iy 12 |M24x15| 16 20592CE, E7005. E7202. E7205.
: 16 M30x2 20 E9801. E9BQ4ZESER),
20 M36 32 25
25 M42 32 30
32 M52 32 38
2.4 EE A S BB Banjo Bonded Seal ( DIN 7642, DIN 7643)
R : . R R4 B TR R4 Bt
HOSE DN HOSE FITTING MATING ADAPTER FIGURE
5 M10 %1 10.1
6 M12%1.5 12.1
8 M141.5 14.1 -
10 M16%1.5 16.1 WEREL A A -
700112 700M
12 M18%1.5 18.1
18 M22%1.5 22.1
20 M26 1.5 26.1
25 M30%1.5 30.1

s rmE 88 T L T B R . g B
HOSE DN THREAD HOSE FITTING MATING ADAPTER FIGURE
1/8 27 NPTF
1/4>18 NPTF ShagsEE L AL e T L
10 3818 NPTF | Male: 15611, Female: 5000, 5404, ‘@
12 12514 NPTE | 15612:, 5406, 5502, 5504, 1---L-
20 34514 NPTF SHO5E, |
25 1%11.5 NETF
32 1.1/4 11.5NPTF
40 1.1/2% 11 5NPTF
50 2116 NPTF
3.2 JIC37 =S B JIC37°Cone Seal { SAE J514)
wELTRAE i wEELETER B FEiT i AL B R E
HOSE DN THREAD HOSE FITTING MATING ADAPTER FIGURE
4 5/16x24
p S Bnod SR eT AT E L BoFAP 8 by Sl
- —— Male: 16711, Female: 6402, 6500, 6501,
167128, 6503. 6504, 6505. 6506, ,
8 1/2x20 6565. 6600, 6602. 6605 %ﬁr \
10 Bi16x18 . EIEI'C'E'#
12 3/4x16
16 7/8x14 HagaiE L AC MR S gL
20 1.1/16x12 Female: 26711, Male: 2403, 2500, 2600,
25 1.5/16x12 26741, 26791, 2603, 2605, 2700, 2701,
39 1.5/8x12 26712, 26742, 2703, 2704, 6400, 6B01,
m T 267925 6802, 6803, 68042
50 2.112%12

3.3 OFEEEEHE® O-Ring Face Seal ( SAE J1453)

L — 3/ S EES o3 EELETIER B i L B 55 B+
HOSE DN THREAD HOSE FITTING MATING ADAPTER FIGURE
fﬂ 19::11":11 SRR SRS
Male: 142115, Female: F56500, FS6600,
L 13/16x16 FS6602. FSEB00SE, % ﬁ
16 1x14 PISBE N B sk A MBI 4 m—f L
20 1.3M16x12 Female:24211. Male: FS2403, FS2500, _r
25 1.7/116x12 24241, 24291, FS2603. FS2700. FS6400. B !
32 1.11/16x12 242128, FSE801E,
410 2x12

| 272



MIonEE# INFORMATION

273

1L RBISUCONNECTION

3.7 BOREEBHME =18 Flange Coupling (SAE J518)

MONEEE INFORMATION
$ELEERTCONNECTION
3.4 M0 MBI 90°Cone Seal (SAE J513)
ECHAE iR e ELER A BT EEL R A e[ =3
HOSE DN THREAD HOSE FITTING MATING ADAPTER FIGURE
& 7/16%20 SHBSTEREEL bl Trtuy e
a8 1/12x20 Male: 178115, Female; 65453,
10 h'Hx18 o ot-
12 27ax16 PR R sl AR R
6 — Female: 27811, Male: 2101, 2103, 2104%F,
27841, 27891%,
20 1.1/116x14

3.5 ANEmOEEAREFE O-Ring Boss Seal { SAEJ1926)

mELRRE LI TEEL R R BT EELER A E&
HOSE DN THREAD HOSE FITTING MATING ADAPTER FIGURE
4 5/16x24
2 Jaxzd
E :’:::;ﬂ” AEEGEEL | ERASiTEEL
Male: 16011%, | Female: 6404, 6410, A
10 9/16x18 pB153,
12 3/4%16
16 TiExid
20 1.1/16x12
25 1516212
32 1.5/8x12
40 1.7/8x12
50 21/2x12
3.6 HOEEEHAN AL Staple-Lok Coupling
wRem | 22 , ) iRy | TR i
HOSE DN DASH HOSEFITTING | 4 ATING ADAPTER FIGURE
G 04 15.16 949
10 06 2017 13.8 gL BCRRE L
12 08 24.16 17.9 67011%, K6500%,
20 12 2916 23.9
25 16 3912 30.9
32 20 4615 37.9
40 24 55.22 46.9
50 32 6421 55.9

Eh | wEa LR g
3L B 5 EE B
w5 HiriZ c d A B ks MATING FIGURE
MPa HOSE DM HOSE FITTIMG ADAPTER
12 6.73 a0.2 17.5 A8 .
20 573 | 281 | 222 | 478 TE =k —REESH i
:'FET'-J'E 3?311- 'H;';EDEE —ZF i r
i 23 8 44.4 26.2 52.4 87341, Connected o=
?ﬂ 32 a 50.8 a0.2 58,7 BT391%, With Port -
Code 61 40 8 60.3 | 357 | 69.9 g §
50 9.51 71.4 42.0 77.8 "
6 9.53 841 50.8 88.9 "
@ ! @ 2o
12 7.75 1.7 18.2 40.5 ) __E}__ i r'nli
20 876 | 413 | 238 | 508 ﬁ%ﬁ* : —HRERESH 1 9 D
e 25 9.53 AT 6 27.8 &T.2 i BmnEE y Om
=5 87641, Connected =
40 1257 63.5 36.6 79.4 B7613%F, K <
50 1257 79.4 44 .4 05.8
4 BFELEER Japanese Connection
4.1 2EEye0 meEE e ( (2 ) JIS Metric Thread 60°Cone Seal
HEammE o L A e L B B i R A . T ) B
HOSE DM THREAD HOSE FITTING MATING ADAPTER FIGURE
& M1431.5
. PP MBI EEL AR FI PR L
Male: 186113, Female: MEBS00,
10 M18x1.5 MKE600. MKGE02SE,
iz Mz2=1.5
16 M24 1.5
20 M30%1.5 Ags I EEL ACFEYHE LT L
Female:; 28611, Male:ME2403,
25 M33x1.5 2856841, 28691 MEZ500, MEZ2603Z,
32 M3G=1.5 =
40 Mad2=1.5

274



MIonEE# INFORMATION

EWIN

kiR EDMBTHHERINR
RECOMMENDED PRESSURE AND INSTALLATION TORQUE

MINEEE INFORMATION
LSBT CONNECTION
4.2 BEIEENc0HEmEH T (JISB2363) JIS GAS Thread 60°Cone Seal
oEATAE B WEELRETIER BRI SRR R B
HOSE DM THREAD HOSE FITTING MATING ADAPTER FIGURE
& G1/4%18
10 G3/8x19 R nEEL ACFEYH RS E IR L
12 G127 14 Female: 29611, Male: BPJ52403,
29641, 29691 BPJS2500, BPJS2603,
0 GIMx18 &, BPJS7012, BPISTL00,
28 G1=1 BPIST200%,
32 G1.1/4% 11
40 G1.1/2%11
4.3 HSSEFHIHEREHE, BSPT Thread Seal
TEHLOWRAESE L1 WEELREFER BT IS L B 5 B
HOSE DM THREAD HOSE FITTING MATING ADARTER FIGURE
4 R1/8%28
6 R1/4x19 SRR EEL BEHEMRNIT L
10 R3/8:x19 Male:13011-5P, Female: BSPT5000,
13012-5P%, BSPT5502, BSPTS504,
2 RIf2=14 BSPT5602, BSPTSAO5EE,
20 R3/4 %14 Al — _
25 R1x 11 .
32 R1.1/4%11
40 R1.1/2 %11
50 R2x 11
5 HEELEFER British Connection
5.1 BRHEESHERHSEAESEEHMWER 60°Cone Seal Or Bonded Seal
orEL iR i e AP A BRI L S5 B+
HOSE DM THREAD HOSE FITTING MATING ADAPTER FIGURE
i G1B%28 | shapersnirizsl REAT60 LM MA R
& G1/4x19 Male: 12611, 12612 s For Female 60°
10 cybxis | 4 To | e e B ey
). 1261148, . .
12 Gliz=14 ) % | mmFasneHmmen
20 G3/4x14 iTE#EiFor Bonded Seal:
25 G111 ABTE R ot S
32 G1-1/4x11 | Female: 22611, Eﬁ?ﬁﬂfﬂﬁﬂ—jﬁ ] .
40 G1-1/2% 11 22641, 22691, BSPP2403, BSPP2500,

273

L F R4 R FEYE IR E HEBSPPHFE RS
Metric Thread 24 ° Cone Swivel Nut BSPP Thread Swivel Nut
#ivThread #ltEsize %ﬁﬂ: F,Irﬁﬁjrjem Pa ivThread fiEsize %ETE F'IrLEEer]eMPa
Mi12=1.5 06L 18 50 G1/a=28 =7 10 35
M1431.5 08L 25 50 G1/4x19 -4 20 40
M16x1.5 10L 35 500 GA/Bx19 -6 35 40
M18x1.5 121 45 40 G214 -8 1] 35
M22=1.5 150 G0 40 G114 -10 FiLl 1]
M2G=1.5 1BL 105 40 Gl =14 -12 115 31.5
M0 =2 22L 145 25 G111 -16 140 25
M36 2 28L 170 25 G1-1/4 211 -20 210 20
M52 35L 280 25 E1-1/2 =11 -24 290 16
ME2 =2 421 420 25 G211 -32 400 12.5
Mid=1.5 065 35 B0
M16%1.5 185 50 80
M1831.5 108 65 B0
M20x1.5 125 75 63
M22=1.5 145 a5 63
24 1.5 165 105 63
M3d=2 205 160 40
M36 2 258 220 40
Ma2 =2 305 350 40
M52 =2 285 460 40
EFIICIT RS RS EFIORFSEIREG
JIC37*Thread Swivel Nut ORFS Thread Swivel Nut
#@erhread | #f8size %ﬁ“ﬂg LfFEIMPa WirThread | Mpasize %E: m [ THEEAMPa
TiHax 20 -4 15-16 31 91618 . | 25-27 63
11220 -5 16-21 27.5 11M1E6=16 -B 40-43 63
BM1G6»18 = 24-28 27.5 13116186 -8 55-509 63
34 %16 -8 49-53 27.5 1514 -10 B0-68 41.3
TiEx14 =10 T7-BS 21 1-3M16x12 =12 a0p-95 41.3
1-1116=12 =12 107-119 21 1-Fi16x12 =16 125-135 41.3
1-3/16%12 -14 127-140 17 1111612 -20 170-180 27.5
1-5M16x12 =16 147-154 17 2712 =24 200-225 27.5
1-5/8%12 -20 172-181 14 2-1/2%12 -32 510-540 21
1-Ti8=12 =24 215-226 10.5
2-172¥13 -32 332-350 8
276



277

EWIN

pIINEEE INFORMATION

ZEM4 SEAL

1, O8I O-Ring

¢ DIN 24°$EE R 0OFE =S HOREE ( ERES ) DIN 24°Cone O-ring L(E Series)

MIonEE# INFORMATION

¢ M5 ;E=08F LK Flange O-ring

Off: B{t8/PART NO. S THREAD d b B {248/ Tube O.D Size
OR4x1.5 M12x1.5 4.5 1.5 6L
ORGx1.5 M14x1.5 6.5 1.5 8L
ORBx1.5 M16x1.5 8 1.5 10L
OR10x1.5 M18x1.5 10 1.5 121
OR12x2 M22x1.5 12.5 2 15L
OR15x2 MZ6x1.5 15 2 18L
OR15x2 M27x1.5 15 ) -
OR20x2 M3I0x2 20 2 221
OR26x2 M36x2 26 2 28L
OR32x2.5 MdSx2 32 2.5 5L
OR38x2.5 MG52x2 38 25 421

¢ DIN 24" E RO EFEHOREE ( EE% ) DIN 24°Cone O-ring S(E Series)

OFEBH=S/PART MO, LK/ Size d b
LK35 P20x2.5 20 2.5
LKEAD Plexl. 5 26 2.5
LKSS D3Zx2.5 32 2.5
& EHSAEMROEBES BOEBEIGB01EF) SAE Male O-ring(6801 Saries)

OfEE{S/PART NO. W/ THREAD d b trS/Dash Size
ORG6.0O7x1.63 5/16x24 LUMF G.07 1.63 -02
DOR9.03x1 63 3/8x24 UMF T.65 1.63 -3
ORB.92x1.83 TilawZ20 UNMEF 8.9z 1.83 -4
OR10.52x1.83 1/2x20 UNF 10.52 1.83 =05
OR11.89x1.98 G9/16x18 UNF 11.89 198 -5
OR16.36x2.21 3/4x1e UNF 16.36 2.21 -08
OR19.18x2.46 T/8x14 UNF 19158 2.4 =10
OR23.47x2.85 1-1/16x12 UN 23.47 2.95 -12
ORZ26.62x2.95 1-3/16x12 UN 26.62 2.95 -14
DOR29 742,95 1-5/16x12 UN 2974 2.95 -16

DOR37.47x3 1-5/8x12UN 37.47 3 -20

OR43.69x3 1-7/8x12 UM 43.69 3 -24

OR59 . 36x3 2-1/2%12 UN 59.36 3 -32
+ SAEE=FON:E SAE Flange O-ring

ORIt S/PART NO. M H/Size d b £-2/Dash Size
OR1E 64x3.53 1/2° 18 .64 153 -8
OR24.99x3.53 3/47 24.99 3,53 -12
OR32.92x3.53 1" 32.92 3.53 -16
OR37.69x3.53 1-1/4" 37.69 3.53 =20
OR47.22x3.53 1-1/2"7 47.22 3.53 -24
OR56.74x3.53 2" 5674 353 =32
ORG99 44x3.53 2-1/2" 69 44 3.53 -40

+ JISE=F0f:ME JIS Flange O-ring

OEE{LE/PART NO. MEE/Size d b fr8/Dash Size

OR21.82x3.53 5/8" 21.82 3.53 10

& [SO61494HYMELHEIRABORE(7205F 7)) Metric Male Stud End O-Ring(7205 Series )

Offz B S/PART NO. WO/ THREAD d b E{2#t8/Tube O.D Size
OR4x1.5 M14x1.5 4.5 1.5 65
OR6x1.5 M16x1.5 6.5 1.5 85
OR7.5x1.5 M18x1.5 8 1.5 105
OR9x1.5 M20x1.5 10 1.5 125
OR12.5x2 M22x1.5 12.5 2 145
OR13.5x2 M24x1.5 13.5 2 165
OR16.3x2.4 M30x2 16.3 2.4 205
OR20.3x2.4 M3 bx 2 20.3 2.4 255
OR25.3x2.4 M45x2 25.3 2.4 308
OR33.3x2.4 M5 2x2 33.3 2.4 388

* EFORFSIMELEROL B FH O EFSFES) ORFS Male O-ring(Fs Series)

Oft; E{LE/PART NO. WL/ THREAD d b #55/Dash Size
OR7.65x1.78 9/16x18 UNF 7.65 1.78 -04
OR9.25x1.78 11/16x16 UN 9.25 1.78 -06
OR12.42x1.78 13/16x16 UN 12.42 178 -08
OR15.60x1.78 1x14 UNS 15.60 1.78 -10
OR18.77x1.78 1-3/16x12 UN 18.77 1.78 -12
OR23.52x1.78 1-7/16x12 UN 23.52 178 -16
OR29.87x1.78 1-11/16x12 UN 29.87 1.78 -20
OR37.82x1.78 2x12 UN 37.82 1.78 --24

OREES/PART NO, R/ THREAD d b tFE/Dash Size
ORB.1=1.6 MEx1 6.1 1.6 Ma
ORE.1x1.6 M10x1 8.1 1.6 M10
OR9.3x2.2 M12x1.5 9.3 2.2 M12
OR11.3=x2.2 M14x1.5 11.3 2.2 M14
OR13.3=2.2 M16x1.5 13.3 2.2 M16
OR15.3x2.2 M18x1.5 15.3 2.2 M18
OR17.3=x2.2 M20x1.5 17.3 2.2 M20
OR19.3x2.2 M22x1.5 19,3 2.2 M22
OR23.1=2.9 M26x1.5 23.1 2.9 M26
OR23.6x29 M27x2 23.6 2.9 mM27
OR26.6x2.9 M30x2 26.6 2.9 M30
OR29.6x2.9 M33x2 29.6 2.9 M33
OR38.6x29 Ma2x2 186 2.9 M4z
OR44.6=2.9 M48x2 44.6 2.9 M4§
OR56.6x2.9 MeOx2 56.6 2.9 Mal

278



279

pIINEEE INFORMATION

+ JI5 B23513rEOR E(R < /8IS B2401) JIS B2351 Standard O-Ring(Per JIS B2401)

MIonEE# INFORMATION

EWIN

2. OBRMEfMEBEO-Ring And Retaining Ring

3

1

f r b

o ]

+ EEENoREES Fof B RO GERL) BSPP Male O-ring And Retaining Ring ( G Thread )

O B 2/PART NO. W THREAD d b t52/Dash Size
OR7.Bx1.9 Gl/8x28 7.8 1.9 -2
OR10.8x2.4 G1/4x19 10.8 2.4 -04
OR13.8x2.4 G3/8x19 13.8 2.4 -06
ORL7 . Bx2.4 Gl/2x14 17.8 2.4 -8
OR23.7x3.5 G3/4x14 23.7 3.5 -12
OR28.7x3.5 G1lxl1 28.7 3.5 -16
DR3I7. 7x35 G1-1/4x11 E¥) 35 - 20
QOR43.7x3.5 Gl1-1/2x11 43.7 3.5 -24

+ F4003 OB BFFEFI™fFlare-0 Buna O-Ring

Oz E{£ S /PART NO. Wy THREAD d b tnS/Dash Size
OR4.47x1 7/16x20 UNF 4,47 1.0 -04
OR5.79x1 1/2%20 UNF 5.79 1.0 -05
OR7.49x1 9/16x18 UNF 7.49 1.0 =06
OR10.03x1 3/4%x16 UNF 10.03 1.0 -08
OR12.5x1.78 7/8x14 UNMF 12.5 1.78 -10
OR15.6x1.78 1-1/16x12 UM 15.6 1.78 =12

OR18.77x1.78 1-3/16x12 UN 1877 1.78 -14
OR22.45x1.78 1-5/16x12 UM 2245 1.758 -16
ORZ28.3x1.78 1-5/8x12 UN 28.3 1.78 =20
OR34.65x1.78 1-7/8x12 UN 34,65 1.78 -24
OR4T 3xZ2. 62 2-1/2x12 UN 47 .3 2.8 =37

* [SOB434-6F @60 S EmAORE(GSWES) BSP Fenale 60°Cone O-ring [ GSW Series )

OB {LS/PART NO. EE/THREAD d 175/ Dash Size
OR6.11x1 G1/4x19 6.11 -04
OR8.1x1.6 G3/8x19 8.1 1.6 -06
OR12.1x1.6 G1/2x14 12.1 1.6 -08
OR13.1x1.6 G5/Bx14 13.1 1.6 -10
OR17.1x1.6 G3/4x14 17.1 1.6 -12
OR22.1x1.6 G1x11 22.1 1.6 -16
OR29.1x1.6 G1-1/4x11 29.1 1.6 -20
OR35.1x1.6 G1-1/2x11 35.1 1.6 -24

OR47.37x1.78 G2x11 4737 1.78 -32
+ SAEY FIEL O SAE Staplelok O-ring
OFE{LS/PART NO. L Size d b
ORGx2 -04 6 2
OR10x2 -06 10 2
OR13x2.5 -08 13 2.5
OR19%2.5 12 19 25
OR25x2.5 -16 25 2.5
OR33x2.5 -20 33 25
OR40x3 .24 40 3
OR50x3 -32 50 3

OB E/PART NO. | E5/THREAD d b HE/Retaining Ring D K w8 /Dash Size
OR7.97x1.88 Gl/8x28 7.97 188 RR1/8 15 1.4 02
OR10.77x2.62 G1l/4x19 10.77 262 RR1/4 19.5 1.9 -04
DOR12.94x2.62 =3/8x19 1394 262 RR3/B 23.5 1.9 -0&
OR17.86x2.62 G1/2x14 17 84 262 RR1/2 28.5 149 -08
OR19.7x2.62 G5/8x14 19.7 2.62 RR5/8 31.5 1.9 -10
DORZ23.4Tx2. 62 G3/4x14 2347 Z2h2 RER3/4 34.5 1.9 -12
ORZ29.74x3.53 Glxll 29.74 353 RR1 43.5 2.6 16
OR37.69x3.53 G1.1/4x11 37.69 | 3.53 RR1.1/4 42.5 2.6 -20
DOR44 . 04x3.53 G1.1/2x11 44 04 3.53 RR1.1/2 B0 2.6 -24
OR55.7x3.53 G2x1l 55.7 3.53 RR2 72 2.6 -32

3. &% Bonded Seal
- D
d
2
| s
| : i
¢ SRiaEEFAES®EEBonded Seal
HSHEE Part NO, B/ Thread d D
ZHD-10 MI10, G1/8" 10.4 16
ZHD-14 M1l4, G1/4° 144 20
ZHD-16 Mle 16.4 22
ZHD-18 ML1E, G3/8° 153.4 25
ZHD-22 M22, G1/2° 225 a0
ZHD-24 M24 24.5 £
fHD-27 M27. G3/4° 27.5 35
ZHD-30 M30 30.5 a8
ZHD-33 M33, G1° 33.5 42
ZHD-36 M3G 36.6 46
ZHD-42 M4z, G1-1/4° 426 53
ZHD-45 M45 456 56
ZHD-48 Mg, Gl-1/2° 457 a0
ZHD-52 M52 52.7 GB&
ZHD-a0 Moo, G2° 60.7 75
280



EWIN

MIonEE# INFORMATION

EWIN

A (SitEi % CONVERSION FACTOR

P& #E INFORMATION
4, BEHhEEEEFRed Copper Washer
D ]
b ] ——t
/. *
H
¢ FHEEBE FRed Copper Washer Z I
LS /Part NO. d D H
DP-BO4G b 11 2
DP-BOBG 12 18 s
5. EHENEIEPressure Gauge Sealing Ring
D
d
VmE7h
H
' +
& FEHEFFES Erressure Gauge Sealing Ring !
BB S/ Part NO. o H
PG-G1/4 ] 11.3 4.5
PG-G1/2 12 18.5 5

6. EDEEEIBED Seal Ring

=+|+ o

¢ EDEHE (855519522 5) ED Seal Ring (8555 and 9522 Series)

I

Lmj_[H

= I B i HHR R
DENOMINATION UNIT CONVERSION UNIT FACTOR
=y E¥mm 25.4
Kl REHmm HEin 0.03937
LENGTH BRIt #m 0.3048
Hm Rt 3.28084
i EREYT FREX 6.4516
AREA FHEHR FrHEd 0.1550
Zhnegal H 4.54609
FH FElegal 0.219969
vc}{ff!m E Zinegal FH 3.78541
Fi ENegal 0.264172
FH a¥3 1
B i#lb Frikg 0.453592
MASS Fiakg #lb 2.204622
146 g0 ETIbEin M. m 0.112985
TORQU —— #:h = bt.in 8.85075
Bh/ES psi Bbar 0.06895
Ebar W/ 2psi 14.5038
B h/%T2 psi JLifMPa 0.006895
IE $ JEIEM Pa Bh/FT 2psi 145.038
PRESSURE LM pa Ebar 10
Ebar JEIEMPa 0.1
THPa Ebar
Ebar MBPa
i ERFhs H/Bm/s 0.3048
VELOCLTY */Fm/s RS 3.28084
Eme/rgal/min. Frigzlimin. 4.54609
o T3/ min. ENe/gal/min 0.219969
FLOWRATE £ /4gal/min. /45 /min, 3.78541
F/orlimin, EMNTS/rgal/min 0.264172
8 T MEEC S/ EREF-32)
TEMPERATURE 18 L L C e F BERE9/5+32

BHES/Part NO. Wi/ Thread d D H E=S /Dash Sz
ED-G1/8 G1/8-28 8.4 11.9 1.0 -02
ED-G1/4 Gl/4-19 11.6 16.5 1.5 -4
ED-G3/8 G3/8-19 147 18.8 1.5 -06
ED-G1/2 Gl1/2-14 18.5 23.9 1.5 -08
ED-G3/4 G3/4-14 23.9 29.2 1.5 -12

ED-G1 Gl-11 297 as7 2.0 -16
ED-G1-1/4 Gl-1/4-11 388 45.8 2.0 -20
ED-G1-1/2 31-172-11 447 50.7 2.0 -24

ED-G2 GZ-11 56.7 0.8 2.0 -32

ED-M3 ME8x1 6.4 9.9 1.0 -M8

ED-M10 PM10x1 5.4 11.9 1.0 -M10
ED-m112 PM1Z2ul. 5 9.8 14.4 1.5 ~h12
ED-M14 M1dxl.5 11.6 16.5 1.5 -M14
ED-M1G M1lExl. 5 13.8 12.9 1.5 -M16
ED-M18 M18x1.5 15.7 20.9 1.5 -M18
ED-M20 M20x1.5 17.8 22.9 1.5 - 20
ED-M22 M22x1.5 196 243 1.5 -M22
ED-M24 M24x1.5 21.8 26.9 1.5 -M24
ED-M26 M26x1.5 23.9 29.2 1.5 -M26
EC-M27T P2 Tx2 239 29.2 1.5 M 27
ED-M33 M33xd 29.7 35.7 1.5 -M35
ED-m142 1 D 38.8 45 8 2.0 -hd2
ED-MAE Mg Bx 2 447 50.7 2.0 ~h48

281

282



